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1) The phrase “Achilles' heel” means:

1) A strong point

v 2) A weak point
3) A permanent solution
4) A serious idea

14 : Achilles' heel
English Meaning: a weakness or vulnerable point.

Bangla Meaning: 531 1 Jpo1T31d

Ex. Sentence: Maths has always been my Achilles heel.

Bangla Meaning: sYTs 513 WIER 3G {0l f2e |
Source: Hello BCS Lecture

2) Which word is closest in meaning to 'Franchise'?

1) Utility

2) Frankness

v 3) Privilege
4) Superficial

3) Which one is in plural number?

1
v 2
3
4

School

Oxen

Leaf
Mathematics

)
)
)
)

4) Visage' in Shelley's 'Ozymandias' refers to -

1) Body
2) Sculpture
3) Statue

v 4) Face

: 100



5) What does the abbreviation 'AD' stands for?

v
2
3
4

Anno Domini
Anti-Dot
After Death
Add Data

~— N N S

6) What is the meaning of the idioms 'A bad egg'?

1) Unreliable person
2) Dangerous person

v 3) A person who cannot create anything
4) None of this

7) Who is the writer of 'The House of Fame'?

1) Grancis Bacon
v 2) Geoffrey Chaucer
3) William Lanlord
4) John Wycliffe

8) The word bounty is closest in meaning to

v 1) generousity
2) sympathy
3) dividing line
4) familiar

AN : Bounty - SARWI, IAGT ; generosity — B7RaT ; familiar - 53°R%S , dividing
line - RSISTAET ; sympathy - SRIqehie

9) Still waters run deep. KA 'Still' *=(D

1) Noun

2) Pronoun
v 3) Adjective

4) Adverb

10) Give the antonym of the word "Transitory".

1) Transparent
2) Temporary
v 3) Permanent



4) Short-lived

A : Transitory = ¥, W3 90 <R Permanent = 31
Temporary = FFER

Transparent = ¥

Short-lived = 5/

11) Once in a blue moon' means

1) always
2) nearly
v 3) very rarely
4) hourly

I : The phrase 'once in a blue moon' is an idiom that means something
happens very rarely or infrequently.

Come rain or shine - always

Close but no cigar - nearly

On the hour -hourly

12) Honey is ..... sweet

v 1) very

2) too much
3) much too
4) excessive

13) Choose the correct spelling

1) soverinty

2) soverignty
v 3) sovereignty

4) sovereiginity

14) Calligraphy $1?



15) The idiom ‘put up with’ means -

1
v 2
3
4

protect
tolerate

stay together
keep trust

~— N N S

I ‘put up with” means( to accept or continue to accept an unpleasant
situation or experience, or someone who behaves unpleasantly: | can put up
with the house being messy, but | hate it if it's not clean. He's so moody - |
don't know why she puts up with him.) --tolerate

16) Who of the following writers was not a novelist ?

1) Charles Dickens
v 2) W.B. Yeats
3) James Joyce
4) Jane Austen
AN = William Butler Yeasts f&(eid @& Irish poet, dramatist 432 ritic | O/ RWTo
g PROR T4y I= - The Second Coming, Wild Swans at Coole, A prayer for
My Daughter @32 The Lake Isle of Innisfree 21| Charles Dickens - Victorian

Age - U James Joyce - Modern Age - U3 Q3% Jane Austen - Romantic Age - 43
Novelist I1 \3@nf>w f&cetd |

17) Identify the word that can be used as both singular and plural:

1) wood

2) issue
v 3) fish

4) light
AT : fish =0 7/T B 28 A ARKR [IGT oanfod 9128 R ARK 9P q12s
M| O3 fish < singular 3 plural form 433 73|

18) Which of the following words has been formed with a prefix?
vl
2

3
4

amoral
aspersions
amnesia
authentic

)
)
)
)



1T : Moral ¥ T tafod qifosto | Amoral <R O SAfoP , o4 | Moral ¥ [
'a' prefix IGTamoral ™= b s1fdo Tz | Option - « 1P RS @Nferd | Authentic -
oATaNRp, AT , Amnesia - oTd , TR RS @A 3 Aspersions - ST, P0TF |

19) Choose the correct spelling

1) Persiverence
v 2) Perseverance

3) Perseverence

4) Persiverarenco

20) September on the Jessore road' is written by

1
v 2
3
4

Madhusudan Dutt
Allen Ginsberg
Kiser Huq

Vikram Seth

~— N N

21) Study of religion is called:

vl
2
3
4

Theology
Regionology
Anthropology
Apiology

N— N N N

22) Which of the following is not a verb

1) threaten

2) worsen
3) flatter

v 4) bounden

23) London town is found as a living being in the works of

1) Thomas Hardy
v 2) charles Dickens

3) W.Congreve

4) H.Lawrence

24) Antonym of the word '‘Concord’ is

1) harmony
v 2) conflict



3) thrifty
4) scanty

25) 70 IR 0T ARIIGAP P ICT?

AT 1 ST A0 LR X1 | AT g 32T ¥R AT~ AT, WRAT, SR, Fod,
15, 3B faRd, (oif3ie, 17|

27) GPTA AT AR BHIAT?

1) RE

2) 2I-(oATaT
) <Tors

v 4) g5

28) 5T 31 O13 T3 I 22l I - QA O3 TRFT



30) fAE7 1AM ATSRARGP AT T2

)
)

3) 3
)

AT : SR T G AT R | Q32 T TP L 07 | SR FAOT Q33 K/id TR 20
9P IV |

35) (O QRAP P ST @I ?

v 1) s
2) [P BGPT



41) ST IARPACR (T WL TGS R ?

1) Forog
v 2) ®idog



3) *MFH
4) I1PY APAT

42) (T GO X FLAS-§ Q7 IR A?

1) CHTOICH 25

v 2) IS TSP S5
3) PR
4) BSHIR QI RIS

45) @ TR T \3 9@ @3 - 9T I 5 73?2

—

) 0T
) T
3) A,
) QR

N

v

N

46) T AP @1 RIS eicired 7 @1 [ B2 I67?



3) %
4) oy

AN = A X STALS X7 - Bival, SABHAT, TRAT, -1, SRS 2eho | WoRME I 9
AT X - ST, BIP XTHA FALST X - 1 2efo|

48) IS IR IS W RIS 6 RoT



53) TR Goa1ef QR FRI00CR @1 M SRES?

54) WA FNTOR QNG I TR BT 22

1) >a aferd d»ay
2) R FTH S
3) 4 Fb Y»ad

v 4) 50 afeF Y

AT 1 So AfPFeT YD I APPSR LR TTOR QEIG T BT 2T 992
OEI SRR 5100 1 2 | O SKAPK 1 ORI KPR XI912 5127 DR HQ APt d»ad Sce
(R (SR (IO | TR0 (NG T IR TP O DS A |

55) IS ATHId S (P10 ?
SO0

N —

) O
v 2)519
3) (5o
4) e

56) AT ¢ ¢ I2J 217 HRIT-2eMATNG @& QISTCETST 516 2 (@Td OIRCY?

v 1) 59/53/3030

2) YY/HR/030

3) 5&/53/20%0
)

4) SH/5/00

57) IECR TTOR GTPR fESRAR 72

58) AT LaPIC IIRATEIP PUD B Sl PAT TAREA?
1)» 0



2)v0
v3)»
4)>3 0

59) IR =T 7T @ [eufh Teow o a1?

0) TTIT (5130 3 faefor &2

1) TGS AT
2) TR A ST
3) aﬂ%ﬁ—c{

v 4) 87

61) ORPT GIATARIC ORIBO JReYCad YOG dTd 1?2

64) World Development Report [t @1d 5123103 IS a@PIar?
1) UNDP



v 2) World Bank
3) IMF
4) BRICS

65) AT FRPI P FPId SR T TR AR 517307

AT : KPR T BT QP TGO FRET TR AR KPR GTRRCO ;1S RT3 Mg
TSI AT | AL HLRLCAR D 0q IO FKPH] P DRI 5100 SR o
qio I | [o53a8 http://bdlaws.minlaw.gov.bd]

66) RPTTSTOIAR ITSHTAT PTATR?

67) 0 K ([P oTIITs; ARSmd QG dIK1-7RPE- SO X 0T GPTAiD ?

v 1

A

)
)
) RO
)

|

68) P GRS (ARTTGD P S TR AYF T (ARG S A be A Ty oo
FEOT 2ATd?

1) 54/55/203)
v 2) /552035
3) 2D/55/20%>
4) /5503

69) 2foa=a P OIS I “ATfeTo 27 @19 BIfRcy?

1) vo aferd

2) Vo T
v 3) 05



4) 0> TETR

70) IFHTE BERTTR TR IR0 AP WA @I P12
oA

—

)

v 2)b1d
3) PTG
4) S

71) IEINGAR Arenod R IR @72

1) RO

2) 51

3) QT
v 4) SR

75) STECR Mol 7907 T I RGR TeIR?
v 1) LTS



4) GRS

76) Q@1 “m1Af BTFP *M1Y Tq?

77) IRTAR R €17 (GBI d AU <IN 2 (@19 CTT?

) BRI
v 2) 3
)
)

—

AT
ORIE

Exig|

IR : AR A1 SI56 9T 72-553F DNA I3RS 1 @FF (@I SACIRTS ARofetofd 3 |
1P ST RNA SIS |

81) IIFR @ISR PRI PI?
1) IR TATSTRP 9T



v 2) IE TSI i
3) (I TATSIRIP S T
4) SR

82) HTAIR YK TOI (PICHTETH AP -

83) fAGraTfaaT |esT TIFTS 27 JACIA -

v 1) PP
TIPS

—

eofd
ey

wW

)
2)
)
)

N

84) Wi <Mt i i gt [Rigo 415

14T : Fo7 3 e fob1fad 57 @3 | fob1TRa 57 accz Ti5T oo \3 5F Sroly o @8d
(XTI, CSHCof, T, ST, GBI, TN, Tl , (T 307 | [G33A- FIKIe [ieeTd 73

86) 37T ITTH UPID AHPICR ARV 0@ ° T ] I1=J ST 397

1)8

N

A}
é\c.evv
J g o



87) 70 TRUTK TGS ¢ 3V U3 ST.S 8 T @6 D F07?

1) >0
2) 3¢
v 3)R0
4) ¢

88) L% X » T 50,000 BRI TR 5 IO GIPT A?

YT : X 3y A 5NY » QIR z=12
9, X \3 y Q3 A0 T = (9*)= b
O, X,Y,Z I] b Fd = (Ob+53)=00
VOIS 5T\Y JId = 00/0 = 50|

90) U TN FIgter B b2 Y. 3 Tt ¢ fil. e R Tfoes Bft SorsT 36 G
@mr?



92) TP ¢ 0 HIqe Ry I 53% 360 2 | 50% EG 00 X SRR U Fide [y
IACD 7{?

)8
2)o
3):

4) @TAL3 T

v 1

93) BT 51T 50% AT RPT A 0% Fhoro KT FeTy AT ¢ TIReT @R <13 IRy
FRITOR Ty 0 7?

94) 2 T I IU@CH o \3 d¢ AT WEd W IS | IR QP0G IS A TRK 3 TG 2 16
00T JTSE?

96) x2-8x-8y+16+Yy? I HY PO QTSI PAC QTIPS I 25 AT A?

1) -2xy
2) 8xy
3) 6xy
v 4) 2xy

97) QI THARIR B[ AFG 357 P FRAR YR WL B9- ARFG A5 TO03T?

1) 3
2) © &



v 3)83
4) ¢ B9

98) 6a2bc 3R 4a3b2c? TN A5 5157, fAea @A ?

1) abc

v 2) 2abc
3) 2a2b?c?
4) A3 |

99) UF TR © T PR W @ PR P TP R 10 I AT KNPy P X011 PO 1S X2

1) €%
v 2) &%

3) %

4) 500%

100) 4*4+41% = 4 X x 97 T PO?

1) 3/4
2)1/3
v 3)1/2
4) 1/5
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